CLASS: VIII
DAILY ASSIGNMENT-21
DATE: 13. 05. 2020 (Week-4)
SUBJECT: ENGLISH
Multiple Choice questions

TOPIC: POETRY COMPREHENSION
Read the following poem carefully and answer the below questions by choosing the
correct option:

The sun descending in the west,
The evening star does shine;
The birds are silent in their nest.
And | must seek for mine.

The moon, like a flower

In heaven's high bower,
With silent delight

Sits and smiles on the night.

Farewell, green fields and happy grove,
Where flocks have took delight:

Where lambs have nibbled, silent move
The feet of angels bright;

Unseen they pour blessing
And joy without ceasing

On each bud and blossom,
And each sleeping bosom.

They look in every thoughtless nest
Where birds are covered warm;
They visit caves of every beast,

To keep them all from harm:

If they see any weeping

That should have been sleeping,
They pour sleep on their head,
And sit down by their bed.

(Extract from the poem *Night' by William Blake)
QUESTIONS:

1: The evening star rises when
(a) the birds leave their nests
(b) it is midnight

(c) itis dawn

(d) the sun descends in the west



2: Here, "bower’ represents

(a) a potted plant

(b) a framework that supports climbing plants
(c) a bouquet of flowers

(d) a flower vase

3: The poet compares moon to

(a) a flower

(b) a bird in the nest
(c) an evening star
(d) an angel

4: The angels come down on earth to

(a) spread moonlight

(b) give blessing and joy

(c) make people ,dance and have fun
(d) take blessing and joy

5: Birds' nest is described as 'thoughtless’ because

(a) the angels are blessing the birds to be happy

(b) the birds are covered in the warmth of their nest
(c) it is made without any thought

(d) the occupants are asleep without any care

SUBJECT: COMPUTER
Multiple choice questions:

1. What is the full form of WLAN?
a) Wired Local Area Network

b) Wireless Local Area Network

c) Wireless Legal Area Network

d) Wireless Local Authority Network

2. Which of the following is not a component of MS Access Window?
a) Ribbon

b) Navigation Pane

c) Status Bar

d) Cell

3. Which of the following is not a type of network topology?
a) Bus Topology
b) Key topology
¢) Ring topology
d) Star topology



4. Which of the following network is typically owned, controlled, and managed by a single
person or organization?

a) LAN

b) MAN

c) WAN

d) PAN

5. ldentify the topology
a) Star topology

b) Ring topology

¢) Hybrid topology

d) Bus topology

SUBJECT: MATHS
Multiple choice questions:

1. Which identity is used for solving (95)2

a) (a—b)?
b) (a+x)(b+Xx)
C) a?— b2

d) (a+b){a—b)
2. Find the volume of cuboid whose dimensions are (x? — 2} ; (2x + 4) and (x-3)
a) 4x*—3x%—16x
b) 3x* —2x3 +16x? + 4x
C) 5x*—3x3—16x?+24
d) 2x*—2x3 —16x? +4x +24
3. Which of the following is the factorization of (1 — a?)
a) (1+a)(1+a)
b) (1-a)(1-a)
c) 1-a)(1+a)
d) (1—a)?
4. What is the value of 5x%% — 3x32 + 2x71% atx=17?
a) 0
b) 2
c) 4
d) 6
5. What is the product of (x + a) and (x + b)?
a) x*+(a—b)x+ab
b) x*+{a+b)x —ab
c) x2—(a+b)x—ab
d) x*+(a+b)x+ab



SUBJECT: PHYSICS

Multiple choice questions:

1.

When a bicycle travels on a rough surface , its speed
a. increases

b. decreases

c. remains the same

d. all of these

Friction isa/an

a. self —adjusting force

b. necessary evil

c. important force in daily life
d. all the above

Which effect of force is caused by the magnetic force between a magnet and a
magnetic substance ?

a. change of position

b. change of shape

c. change of physical state

d. change of chemical nature

The force of friction between two bodies is
a. parallel to the contact surfaces

b. perpendicular to the contact surfaces

c. inclined at 30° to the contact surfaces
d. inclined at 60° to the contact surfaces

If the force on the surface is doubled and area is reduced to half , pressure
a. becomes 2 times

b. becomes 3 times

c. becomes 4 times

d. remain unchanged

SUBJECT: CHEMISTRY

Multiple choice questions:

1. What property of copper makes it suitable for electrical wiring?

A) It has a high density

B) Itisagood conductor of electricity
C) Itisshiny

D) Itis hard

2. Why can metals be beaten and bent into different shapes?

A) Because the bonding between metal atoms is strong and cannot break

B) Because the layers of metal atoms can slide over each other

C) Because the outer electrons in metals are free to move about the structure
D) Because the protons can easily move



3. I am an element with a high melting point, a solid at room temperature, and have a shine

to me that is quite striking. Scientists refertomeasa .
A) Metal
B) Nonmetal
C) Metalloid
D) Plastics

4. Boojho has learnt that non-metals on beating with a hammer are generally broken into
pieces. Which of the following is a non- metal?
A) iron nail
B) aluminium wire
C) copper plate
D) piece of coal

5. Gold : metals :: silicon :

A) Non metal

B) Metalloid

C) Metal

D) Semi non metal

SUBJECT: BIOLOGY
Multiple choice questions:

1. The bread dough rises because of:
(a) Heat

(b) Growth of yeast cells

(c) Kneading

(d) Grinding

2. Which of the following is an antibiotic?
(a) Sodium bicarbonate

(b) Streptomycin

(c) Alcohol

(d) Yeast

3. Which of the following disease is not caused by virus?
(@) Measles

(b) Smallpox
(c) Cholera
(d) Polio

4. The parasite called_ Plasmodium cause a disease known as :
(a) Measles

(b) Polio
(c) Malaria
(d) Dengue



5. Which of the following increase the fertility of soil?
(i) Lactobacillus

(if) Rhizobium

(iii)Spirogyra

(iv)Blue green algae

(@) (i) & (I

(b) (1) & (1)

€ () & (1V)

(d) (1) & (1V)

SUBJECT- HISTORY
Multiple choice questions:

1. Who was the first Governor General of India?
a. Lord Dalhousie
b. Lord Warren Hastings
c. Robert Clive
d. William Bentinck

2. When did Punjab came under company rule?
a. 1849
b. 1850
c. 1749
d. 1750

3. Mahal refers to :
a. Peasant
b. Cultivators
c. Village
d. Headman

4. Who were ryots?
a. Cultivators
b. Mahal
c. Cultivation
d. All of these

5. Which system of land revenue is also termed as the Munroe System?
a. Ryotwari
b. ljardari
c. Mahalwari
d. Zamindari



SUBJECT: GEOGRAPHY
Multiple choice questions:

1. What is a primary ingredient of humus?
A.rocks
B.decayed organic material
C.clay and silt
D.gravel
2. Which soil horizon has the most fertile soil?
A. bed rocks
B. A-horizon
C. B- horizon
D. C- horizon
3. What is the dark, organic material that helps make soil fertile?
A.horizon
B.bed rock
C.sub soil
D.humus
4. What are the different layers of the soil profile called?
A.top soil
B.horizon
C.sub soil
D.profile
5. The material from which soil forms is called
A.parent material
B.humus
C.clay
D.boulders
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